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EOQ= (2Rc.D/Ho) * -1

To=To1+Tp, -2

Tc=Uc.D + R.D/Q + (HC.Q/2. (P-D) / P) -3
To= (2R/DH)” -4

T01=(Qo-S0)/D -5

ROB=LT.D -6

T=Uc.D + Re.D/Q + H..Q/2 -7
VCo= (2Rc.D.HJ) % ((P-D)/ (P))" -8
VCo= (2Rc.D.H) * -9

TCo= UC.D+VC, -10

Qo= (2Rc.D/Hc) . (P/(P-D))" -11
T=Q/D -12

VCo= 2R..D/EOQ -13

So= (2RcHcD/Sc(Hc+Sc) )y2 -14
u=LT/ T, -15

VCy=H. EOQ -16

VC=1+ (VCo)% -17

Q’(Q’-1) SE0Q? -18
ROB=(EOQ.u) - (D.LT) -19

Teo= Uc.D + (2Re.Hc.D)” -20

To= (2Rc/DHC) . (P/(P-D))" -21
PT=Qy/P -22
Qu=(2RD(Hc+Sc)/(H*Sc) ) * -23
To2=So/D -24



